1. 580 x €5k 4 3 An 1 chao y U Sk A 5 A2 &
Fefofat,
| = 9

5 8ol x golm2 1 Aol 24,
1qiuzﬂﬁyﬂy%ﬂggln;ﬂf%g

3 )

A3 AN A" 5 A7 L 7¢1_3_f
} 98 5 A2 A Sxat Exs—day D

o|tt.




T Holl p Y o= 34 5 HF S AR ¢ Y Sh= # 10 AR E AT

u }2AE BAE AHgste] Uehw?

@ (2p+59+10)¥ @ (5p+109) ¥
® @PHOQ)% @ (10p + 10¢) €

@(gp + 10q) =

B ,

RS EEE R,

ofd

(o)
Lts

AT 714 g4l

25 Uk 110 478 2 1 A 1 (2p+10)

e,

o




o] ‘_1_§o 109
@)10 ® 2
=1+9=10




4. x:—4,y:2‘Q‘IH,%(y—x)—%(x—y)ﬂ%)f’%:r"a}ala'.

Ch "
H =

4
|> pal= 6

od =

0=x) = 2-y)
zgx(2+4)—g(—4—2)




5.

o0& T &4 %

r[o

AL BT W A

gO

T-steizt.

@ 2x-3+3x-2=5x-5
O -3x+2+x-1=-2x+1
© 3a+2b-a—-2b=2a

® y+x—2x+y=-x+y

3 1 1 5
@3 25733
=% 4

>
> =e 27

@y+x—2x+y=-x+2y

3 1 1 5
Y e D e = = e =
® 3% T T T,




>
> d=HE: —12x

— 10x+ L 9]
_—x4x4

= —-12x




4

@ 3

3®)2

@1

@ o




2x—-1 -3x+2

5T 6 = A StH ax+b L W, a+ b O] G2

D) @ 1 @% @ 2 ®

| Ot

2(2x—1) - (-3x+2) 4x-2+4+3x-2
0 _7x—46
104
6 6
et x 9 A% o= L A5G b= olmz




